= eI ERERRITEAR
— BFRDLAETERKA 15 TR K T KRS T R BRI 16852015

. ~ =) ;GS@ \/‘-\/‘-‘% S Tt 7\ W
1. FRARRER R = A ERABRAR 100%

F B A S
e i e SRR RIR AR 0
N XL = X

2. PRAEIIEIRE ERET 100%

— 7 =N N = KREBANTFE B RIIRA L 0
\ = X
3. PRARERHIRE TS 100%

vy TR ;
4. MATRGRA = ey % 100%

ZaEbr A BITN:

ey e — TSRIILE RN
mﬁmﬁﬁ%ﬁ4ﬂ_MEMﬁﬁﬁﬁﬁx]DO%

S W B B bR A L
ir \ZIK ;ﬁkz X = p%e 0,
5. PR A RIS HURERI bR A A 2 100%

6. AU AL A PR K o 1 RTFH
O 0 LA A B = (XK, /2, 1 R
VE: n ONRIGKRAKL, X KT Al R A
CSE B 0 T A s T 35 90 71 43 A 0

: T FeE 58 P o 2 RO 36000 H #K
=N IR %= x 0
7. ENFEIE TR RN B 100%

\ X S R 2 5 M T R I 3 F
ENFETH AR R N &< —
8. ENFHERASIFRMA SRR = e b om0 R B E R IR H R

100%

Y. S N R R e T H AR 2 M I AR SEEAT R NI, PR R P R
AR o GETZIRARINT SO A AT T B VIR FE AN, B 4
IR E , G S AR R G AR TR OV, i A OV
ME KR, HABHZIE OV AEtk.

e S5 I PR K 650 H 4

. EREFPEILE 2 xR = x 100%

9. EMFIHIH B = o e e ag  100%
ZIEARBIT N:

FHH VI 2 0=

Zn I 2K B R PR A 56 vh 0 2L 2 B0 2 I VR A 3 10 H 2
[ 1 S8 == T e HL[RI e R 2R B Rl e 6 v o ELAH A =6 ) o PP AL 6 T I U2 4

x100%



e I £ H R 51 A
EFPRA AR = oy ko 007
Zdabr o~ BT

SV A b 3 =

2N 5K B I R A6 v O 2L 1 26 ) TP ST & R OR300 H 2
(7] 353 2 0 ] ¢ 4 R PRAS: B v 2L 0 35 ) P A 36 T S

10.

x100%

SpIAs 2 G — AT SREG S A L ARG I H 4 9 o
L. S S R o 2 = o e < 100%

12, S5 % N R 8] TP AL E=X o 0 N RTER
S % A A FL IR TR AL A= (X0t X20) /2, n AR
T n ARSI FRARL, X S N R L [E]
CSLPRUEIN AR R8I0 128 90 H 73 A0

. e g — FRERMIR ERRRREH o
13. Rl i AN R i IF] T 41 2 b B 100%

. CLUE R E fE SUE R 56 T H 2L
4 ji% | [§>§< = x 10009
14. JaiafAidd ) 3 7 A fE SRS IR 0 H B %

s b — RGBT IR HEN ORI 1 6o
15. fER AR AR I 175 2 BB AR R S0 30 H 100%

. 2017 EEHT IR

16, FiAp iz = LA 600

I 3 L A
— o _ ERIEAR 0
N'ﬁ$%%$_mwmmﬁxumb

18. IrMri et i batl: BRI M s A b U 50 1 15 SE IR KR

=. 2018 FEFTHFRIF:

19. Fi% 0 et g = HRERIIRIEER 9 g4
R B R

SIS N B EH A A b S A R SEIG 3N DL PP S AR I R i BB < 0
20. SEIGE N O U B P 1R R I E LI 100%

\ s ‘ AE S 3N B TR HR i
Spis = N B EFI i% DS ':'>§< = X 0
21 ARSRR SN S T D SRR IR IS 3N T A B R i R 100%

AY N N N N r ‘4} = ‘I:! Eﬁ ¢ [ TRV
90, 115 Kol i1 75 2 T PR e psi . = 20 RIGATBIMRHRR o 9 (399,
(7)) FiFREE

I+ N > U SR IV ¥ ‘4} N %%‘E p s o g
23, I TLK 6 % s vk i o = (2 )%/iﬁszﬁtnié&z % 100%
(18 mil i as



24

2

(@]

26

2

iy

28.

29.

30.

31.

32.

33.

34.

3

(@]

36.

37.

38.

39.

40.

41.

42.

43.

44,

4

(@]

VoA I S VYRR — CAEBE) TEiRHER A H i s 0
BT IS i B TCA R R T o < 100%

NN i 12D BAT R AL AN 25 i 8
SR U 5 BN IE 2R = % 100%
SR H R AES 75 1 L 3 00%

vy v s GERBE) BB IR PR A 8 AN IE 24 H i Bk
SR IG H i =~ < 0
3 B s Ie: B FOANIE 2R T e 100%

. N O PR iR AR bR A
WA s e = HERIORAR 9 5004

LIV NISE
— RS T AL 6 Hi fi NIE Y B AR A H
VAR IO B A7 i 2y o = BT SR AR o 9 004

FRA 25

N o EHE TR AR A S
b i i i A = SEELHE RO o 10006

— y— S N N I /Tqullx S5 2 7\ Sy
*ﬂ:ji@iﬁ/ﬁﬁ}(ﬁéz — SRR ANIE B AR AR x 100%

PRAEHL
o e
bR sE i i K = SRR < 100%

— RAERT LA IE 7 bR A %L
D Zlim“’gk D A J% = X 0
b : m ~IE Xof SR AR IN 8] A7 45 58 SR AR A 2 4 100%

sz a - o e — SR S TR b A
e A B S E A R = SREA RSN EIRIIAN g 000,

FrA =5

Sph 2 N B N o e _ AESEBE A RSB R AS
S A B SR A T R = FERE ARG ERIOAL ) 030,

A S
p — vy [R5 Qe B U E b A 3
Ly N = VL% ) x 0
T EMIbRAG e TR 100%
- 5 SRS BE R RS R
SR RGN R = HEERAR PR » 100%

- X T T4 5 S8 R 2
I‘ +: pi=l S = 0
F LW EH PR ER ST peREEEE 100%

S T 2 TF B K B B
s st R = & JE R 21 TE A 3 2 R AL % 100%

VL Rat IS
RS o RIS I TA] R 3% AR 2L
1@ﬁﬁ%kﬁﬁﬁzh-*-gﬁ%ﬁﬁ“ x 100%

s ORI XTI 2048 o= B O 2
I | D X T S — = 0
BRRFIEFE R 20 L AR PR K R 1 100%

e 2 — SREPERIGTR RIS 0o
EEo kAR T 100%

~ s R A BT R 5305 A R
S A GBI B s e = BEERBIERITAE NI o 1 000,
T
ot o TEEUOBE A3 0 A
DR P > 5 B B R A L B

x 100%

" S 01 5 TR 2 A
B == x 1009
L P T T 100%

ANREMRARE: SR EANREREH K= AR 2 2 1A ST



U CERMREER B3O

46. SR N GUE NS BFEA SR S N GRS (B IREE RO
A7 SEREAEE ARG (LIS) #fadl. HELREMELERG (LI1S) RAMMEIKX
B (CHRMIRER B3RO

M. 2019 447 8HF
(RTMB=FALERSBHER TENEL) F % 13 SRt E AR
EREEFRPHESnE

_ 23 R R ARG B v oo 2L 2D = 1) PP A G 6 101
I 393 5256 = BT L I I 2R 2 A G o 2 4L 2 4 2 () o PG B 0 ) e

B 2% = [ SR PP B AS 4 2

_ S SR A S G AL GV [ VP IR £ HORG 56 15 H
[ 39925 Jom ) 5 i AR A 6 w4 2L A 25 10 B 1P A 36 10 A B

x100%

x100%

Fi. 2020 EEFTHFRIR:

(RTFIERZFA RSB TAEREA) FRE 12 JHeirit AR
AR=ZRRIPRE S IE

_ A R 0 AL S R PR R0 5

550 5 LI R FLIFI A28 R o L1 5 0 DR 33 6
BRZEFIFHE SR

_ EMARURRI LSS MR AR S o,
TR 125 111 24 1 PR A B o0 2L B 22 0 P 36 31 F 0

x100%

75+ 2023 EFIHMIEHR:

B JE B 1) AL =X e 1 RTTRL
R T PR (X,4X,00) /2, 1 B
Ve n ARIRRRAK, X s R ]
CSEBR M TAE s 7 45 90 B 4R 40



